East Asian Math. J. Vol. 32 (2016), No. 1, pp. 027–033 http://dx.doi.org/10.7858/eamj.2016.003



# ON REFINEMENTS OF HÖLDER'S INEQUALITY II

ERN G. KWON AND JUNG E. BAE

ABSTRACT. Generalized Hölder inequality developed by H. Qiang and Z. Hu is further refined. Also, generalized Hölder inequality developed by X. Yang is further refined.

### 1. Introduction

There have been lots of generalizations, extensions and refinements of the classical Hölder inequality. See, [1] and [2] for classical results, and see for example [3-13] and [14] for recent developments on this topic. Among them is the following theorem of H. Qiang and Z. Hu established in 2011.

Theorem A ([10] Theorem 2.1). Let  $a_{ij} > 0$ ,  $p_k > 0$ ,  $\alpha_{kj} \in \mathbb{R}$   $(i = 1, 2, \dots, n; j = 1, 2, \dots, m; k = 1, 2, \dots, s)$ ,  $\sum_{k=1}^{s} \frac{1}{p_k} = 1$  and  $\sum_{k=1}^{s} \alpha_{kj} = 0$ . Then

$$\sum_{i=1}^{n} \prod_{j=1}^{m} a_{ij} \le \prod_{k=1}^{s} \left\{ \sum_{i=1}^{n} \left( \prod_{j=1}^{m} a_{ij}^{1+p_k \alpha_{kj}} \right) \right\}^{1/p_k}.$$
 (1.1)

Moreover, for the integral form of the above inequality, if  $f_j(x) > 0$   $(j = 1, 2, \dots, m)$ ,  $x \in [a, b], -\infty < a < b < +\infty$  and  $f_j \in C([a, b])$ , then

$$\int_{a}^{b} \left( \prod_{j=1}^{m} f_{j}(x) \right) dx \leq \prod_{k=1}^{s} \left( \int_{a}^{b} \prod_{j=1}^{m} f_{j}^{1+p_{k}\alpha_{kj}}(x) dx \right)^{1/p_{k}}.$$
 (1.2)

Remark 1. If we set s = m and  $\alpha_{kj} = \begin{cases} -1/p_k & (j \neq k) \\ 1 - (1/p_k) & (j=k) \end{cases}$  for  $j = 1, 2, \cdots, m$ ,

 $k = 1, 2, \dots, s$ , then (1.1) and (1.2) reduce to classical Hölder's inequality of discrete form and integral form respectively. Theorem A extends Hölder's inequality in this sense.

©2016 The Youngnam Mathematical Society (pISSN 1226-6973, eISSN 2287-2833)

Received January 8, 2016; Accepted January 12, 2016.

<sup>2010</sup> Mathematics Subject Classification. 26D15.

Key words and phrases. Hölder's inequality.

This work was financially supported by a grant from 2015 Research Funds of Andong National University.

The objective of this paper is to generalize Theorem A to the case of  $\sum_{k=1}^{s} \frac{1}{p_k} \ge 1$  and to improve Theorem A by inserting a quantity  $Q (\le 1)$  in the right side of (1.1) or (1.2). See Theorem 2.1 and Theorem 2.2.

As an application, we can insert a new continuum between two sides of classical Hölder inequality. See Theorem 4.1 and Remark 4.3.

### 2. Refinments

The following theorems are our first results of this paper which refine (1.1) and (1.2) respectively.

**Theorem 2.1.** Let  $a_{ij} > 0$ ,  $p_k > 0$ ,  $\alpha_{kj} \in \mathbb{R}$   $(i = 1, 2, \dots, n; j = 1, 2, \dots, m; k = 1, 2, \dots, s)$ ,  $\sum_{k=1}^{s} \frac{1}{p_k} = r \ge 1$  and  $\sum_{k=1}^{s} \alpha_{kj} = 0$ . If  $e_i \in \mathbb{R}$  satisfy  $1 - e_i + e_l \ge 0$   $(i = 1, 2, \dots, n; l = 1, 2, \dots, n)$ , then for any pair  $\{k_1, k_2\} \subset \{1, 2, \dots, s\}$  we have

$$\sum_{i=1}^{n} \prod_{j=1}^{m} a_{ij} \le n^{1-1/r} Q_1^{1/r} \prod_{k=1}^{s} \left\{ \sum_{i=1}^{n} \left( \prod_{j=1}^{m} a_{ij}^{1+p_k \alpha_{kj}} \right) \right\}^{\frac{1}{r_{p_k}}}, \quad (2.1)$$

where  $Q_1 = Q_1(k_1, k_2, \{a_{ij}\}) =$ 

$$\left[1 - \left\{\frac{\sum_{i=1}^{n} e_i \prod_{j=1}^{m} a_{ij}^{1+p_{k_1}\alpha_{k_1j}}}{\sum_{i=1}^{n} \prod_{j=1}^{m} a_{ij}^{1+p_{k_1}\alpha_{k_1j}}} - \frac{\sum_{i=1}^{n} e_i \prod_{j=1}^{m} a_{ij}^{1+p_{k_2}\alpha_{k_2j}}}{\sum_{i=1}^{n} \prod_{j=1}^{m} a_{ij}^{1+p_{k_2}\alpha_{k_2j}}}\right\}^2\right]^{\frac{1}{2\max\left(p_{k_1}, p_{k_2}\right)}}$$

**Theorem 2.2.** Let  $f_j \in C([a, b])$ ,  $f_j(x) > 0$ ,  $p_k > 0$ ,  $\alpha_{kj} \in \mathbb{R}$   $(x \in [a, b]; j = 1, 2, \dots, m; k = 1, 2, \dots, s)$ ,  $\sum_{k=1}^{s} \frac{1}{p_k} = r \ge 1$  and  $\sum_{k=1}^{s} \alpha_{kj} = 0$ . If  $e \in C([a, b])$  satisfy  $1 - e(x) + e(y) \ge 0$   $(x, y \in [a, b])$ , then for any pair  $\{k_1, k_2\} \subset \{1, 2, \dots, s\}$  we have

$$\begin{split} &(2.\oint_{a}^{b}\prod_{j=1}^{m}f_{j}\left(x\right)dx\leq(b-a)^{1-1/r}Q_{2}^{1/r}\prod_{k=1}^{s}\left(\int_{a}^{b}\prod_{j=1}^{m}f_{j}^{1+p_{k}\alpha_{kj}}\left(x\right)dx\right)^{\frac{1}{rp_{k}}},\\ &where\ Q_{2}=Q_{2}\left(k_{1},k_{2},\{f_{j}\}_{j=1}^{m}\right)\\ &=\left[1-\left\{\frac{\int_{a}^{b}e(x)\prod_{j=1}^{m}f_{j}^{q_{k_{1},j}}\left(x\right)dx}{\int_{a}^{b}\prod_{j=1}^{m}f_{j}^{q_{k_{1},j}}\left(x\right)dx}-\frac{\int_{a}^{b}e(x)\prod_{j=1}^{m}f_{j}^{q_{k_{2},j}}\left(x\right)dx}{\int_{a}^{b}\prod_{j=1}^{m}f_{j}^{q_{k_{2},j}}\left(x\right)dx}\right\}^{2}\right]^{\frac{1}{2\max\left(p_{k_{1}},p_{k_{2}}\right)}}\\ &with\ q_{k_{1},j}=1+p_{k_{1}}\alpha_{k_{1}j}\ and\ q_{k_{2},j}=1+p_{k_{2}}\alpha_{k_{2}j}. \end{split}$$

Remark 2. The case r = 1 with  $e_j = constant$  for all j (resp. e(x) = constant and all x) of (2.1) (resp. (2.2)) reduces to (1.1) (resp. (1.2)).

28

#### 3. Proofs

We now are going to prove Theorem 2.1 and Theorem 2.2. Since our process of two proofs are same, we give a proof of Theorem 2.2 left that of Theorem 2.1. We make use of the following lemma whose proof we omit is, by replacing summations over  $\{1, 2, \dots, n\}$  with integrations over [a, b], exactly similar to that of Theorem 1.1 in [7].

**Lemma 3.1.** Let  $f_j \in C([a,b])$ ,  $f_j(x) > 0$ ,  $p_j > 0$   $(x \in [a,b]; j = 1, 2, \dots, m)$ , and  $\sum_{j=1}^m \frac{1}{p_j} = r \ge 1$ . If  $e \in C([a,b])$  satisfy  $1 - e(x) + e(y) \ge 0$   $(x, y \in [a,b])$ , then for any pair  $\{j_1, j_2\} \subset \{1, 2, \dots, m\}$  we have

$$\int_{a}^{b} \prod_{j=1}^{m} f_{j}(x) dx \le (b-a)^{1-\min\{r,1\}} M \cdot \prod_{j=1}^{m} \left( \int_{a}^{b} f_{j}^{p_{j}}(x) dx \right)^{1/p_{j}}, \qquad (3.1)$$

where  $M = M(j_1, j_2 : \{f_j\}_{j=1}^m)$ 

$$= \left[1 - \left\{\frac{\int_{a}^{b} e(x)f_{j_{1}}^{p_{j_{1}}}(x)dx}{\int_{a}^{b}f_{j_{1}}^{p_{j_{1}}}(x)dx} - \frac{\int_{a}^{b} e(x)f_{j_{2}}^{p_{j_{2}}}(x)dx}{\int_{a}^{b}f_{j_{2}}^{p_{j_{2}}}(x)dx}\right\}^{2}\right]^{\frac{1}{2\max\left(p_{j_{1}},p_{j_{2}}\right)}}$$

Proof of Theorem 2.2. Let  $g_k(x) = \left\{ \prod_{j=1}^m f_j^{1+p_k \alpha_{kj}}(x) \right\}^{1/p_k} (k = 1, 2, \cdots, s),$ then it is simple to see  $\prod_{k=1}^s g_k(x) = \left\{ \prod_{j=1}^m f_j(x) \right\}^r.$ 

First, assume r = 1. Then by (3.1),

$$\int_{a}^{b} \prod_{i=1}^{m} f_{i}(x) dx = \int_{a}^{b} \prod_{k=1}^{s} g_{k}(x) dx \le M \cdot \prod_{k=1}^{s} \left\{ \int_{a}^{b} g_{k}^{p_{k}}(x) dx \right\}^{1/p_{k}}$$

where  $M = M(k_1, k_2 : \{g_k\}_{k=1}^s)$ 

$$= \left[1 - \left\{\frac{\int_{a}^{b} e(x)g_{k_{1}}^{p_{k_{1}}}(x)dx}{\int_{a}^{b} g_{k_{1}}^{p_{k_{1}}}(x)dx} - \frac{\int_{a}^{b} e(x)g_{k_{2}}^{p_{k_{2}}}(x)dx}{\int_{a}^{b} g_{k_{2}}^{p_{k_{2}}}(x)dx}\right\}^{2}\right]^{\frac{1}{2\max\left(p_{j_{1}}, p_{j_{2}}\right)}}$$

With  $q_{k_1,j} = 1 + p_{k_1} \alpha_{k_1j}$  and  $q_{k_2,j} = 1 + p_{k_2} \alpha_{k_2j}$ , this *M* equals

$$\left[1 - \left\{\frac{\int_{a}^{b} e(x) \prod_{j=1}^{m} f_{j}^{q_{k_{1},j}}(x) dx}{\int_{a}^{b} \prod_{j=1}^{m} f_{j}^{q_{k_{1},j}}(x) dx} - \frac{\int_{a}^{b} e(x) \prod_{j=1}^{m} f_{j}^{q_{k_{2},j}}(x) dx}{\int_{a}^{b} \prod_{j=1}^{m} f_{j}^{q_{k_{2},j}}(x) dx}\right\}^{2}\right]^{\frac{1}{2\max\left(p_{k_{1}}, p_{k_{2}}\right)}}$$
$$= Q_{2} = Q_{2}(k_{1}, k_{2}, \{f_{j}\}_{j=1}^{m}).$$

Next, assume r > 1. Then by Jensen's inequality and (3.1),

$$\int_{a}^{b} \prod_{i=1}^{m} f_{i}(x) dx \leq (b-a)^{1-1/r} \left[ \int_{a}^{b} \left\{ \prod_{i=1}^{m} f_{i}(x) \right\}^{r} dx \right]^{1/r}$$

$$= (b-a)^{1-1/r} \left\{ \int_{a}^{b} \prod_{k=1}^{s} g_{k}(x) dx \right\}^{1/r}$$

$$\leq (b-a)^{1-1/r} \left[ M\left(k_{1}, k_{2} : \{g_{k}\}_{k=1}^{s}\right) \cdot \prod_{k=1}^{s} \left\{ \int_{a}^{b} g_{k}^{p_{k}}(x) dx \right\}^{1/p_{k}} \right]^{1/r}$$

$$= (b-a)^{1-1/r} Q_{2}^{1/r}(k_{1}, k_{2} : \{f_{j}\}_{j=1}^{m}) \cdot \prod_{k=1}^{s} \left\{ \int_{a}^{b} \prod_{j=1}^{m} f_{j}^{1+p_{k}\alpha_{kj}}(x) dx \right\}^{\frac{1}{rp_{k}}}.$$
e proof is complete.

The proof is complete.

# 4. Another Refinments

We can improve another refinements of Hölder's inequality as consequences of Theorem 2.1 and Theorem 2.2.

Recall the case r = 1 and s = m of (2.2):

$$\int_{a}^{b} \prod_{j=1}^{m} f_{j}(x) dx \le Q_{2} \cdot \prod_{k=1}^{m} \left\{ \int_{a}^{b} \prod_{j=1}^{m} f_{j}^{1+p_{k}\alpha_{kj}}(x) dx \right\}^{1/p_{k}}.$$
(4.1)

For a fixed  $t \in \mathbb{R}$ , if we set  $\alpha_{kj} = \begin{cases} -t/p_k & (j \neq k) \\ t(1-1/p_k) & (j = k) \end{cases}$ , then we have

$$\prod_{j=1}^{m} f_{j}^{1+p_{k}\alpha_{kj}}(x) = f_{k}^{1+p_{k}(1-1/p_{k})t}(x) \prod_{j\neq k}^{m} f_{j}^{1-t}(x) = \{f_{k}(x)\}^{p_{k}t} \left\{\prod_{j=1}^{m} f_{j}(x)\right\}^{1-t}$$

so that (4.1) becomes

$$\int_{a}^{b} \prod_{j=1}^{m} f_{j}(x) dx \le Q_{2} \cdot \prod_{k=1}^{m} \left[ \int_{a}^{b} \left\{ f_{k}(x) \right\}^{p_{k}t} \left\{ \prod_{j=1}^{m} f_{j}(x) \right\}^{1-t} dx \right]^{1/p_{k}}.$$
 (4.2)

According to [6], the function  $H: \mathbb{R} \longrightarrow \mathbb{R}^+$  defined by

$$H(t) = \prod_{k=1}^{m} \left[ \int_{a}^{b} \left\{ f_{k}(x) \right\}^{p_{k}t} \left\{ \prod_{j=1}^{m} f_{j}(x) \right\}^{1-t} dx \right]^{1/p_{k}}$$
(4.3)

satisfied  $tH'(t) \ge 0$ , so that in particular

$$H(0) \le H(t) \le H(u), \quad 0 \le t \le u < \infty.$$

$$(4.4)$$

1 /

Inequality (4.4) with u = 1 refines Hölder's inequality because

$$H(0) = \prod_{k=1}^{m} \left\{ \int_{a}^{b} \prod_{j=1}^{m} f_{j}(x) dx \right\}^{1/p_{k}} = \int_{a}^{b} \prod_{j=1}^{m} f_{j}(x) dx,$$

and

$$H(1) = \prod_{k=1}^{m} \left\{ \int_{a}^{b} f_{k}(x)^{p_{k}} dx \right\}^{1/p_{k}}$$

By (4.2), we obtain a further refinement of (4.4). We state it as the following.

**Theorem 4.1.** Let  $f_j \in C([a,b])$ ,  $f_j(x) > 0$ ,  $p_k > 0$ ,  $(x \in [a,b]; j, k = 1, 2, \dots, m)$ , and  $\sum_{k=1}^{m} \frac{1}{p_k} = 1$ . Let  $N = \{1, 2, \dots, m\}$  and  $e \in C([a,b])$  satisfy  $1 - e(x) + e(y) \ge 0$   $(x, y \in [a,b])$ . Define a function  $H : \mathbb{R} \longrightarrow \mathbb{R}^+$  by

$$H(t) = \prod_{k=1}^{m} \left[ \int_{a}^{b} \{f_{k}(x)\}^{p_{k}t} \left\{ \prod_{j=1}^{m} f_{j}(x) \right\}^{1-t} dx \right]^{1/p_{k}},$$

and define another function  $Q_2: N^2 \times \mathbb{R} \longrightarrow [0,1]$  by

$$Q_{2}(k_{1},k_{2};t) = \left[1 - \left\{\frac{\int_{a}^{b} e(x)F(k_{1},t;x)dx}{\int_{a}^{b} F(k_{1},t;x)dx} - \frac{\int_{a}^{b} e(x)F(k_{2},t;x)dx}{\int_{a}^{b} F(k_{2},t;x)dx}\right\}^{2}\right]^{\frac{1}{2\max\left(p_{k_{1}},p_{k_{2}}\right)}}$$

with

$$F(k,t;x) = \{f_k(x)\}^{p_k t} \left\{ \prod_{j=1}^m f_j(x) \right\}^{1-t}$$

Then

$$H(0) \le Q_2(k_1, k_2; t) \cdot H(t) \le H(t) \le H(u), \quad 0 \le t \le u < \infty.$$
(4.5)

Remark 3. Notinging that  $0 \le Q_2 \le 1$ , the case u = 1 of (4.5) inserted two continuums between two sides of classical Hölder inequality.

Remark 4. Of course Theorem 4.1 has its discrete form by replacing integrations with summations, which can be verified by an exactly same manner. Historically, X. Yang in [14] observed a function  $h : \mathbb{R} \longrightarrow \mathbb{R}^+$  by

$$h(t) = \prod_{k=1}^{n} \left[ \sum_{i=1}^{m} \left\{ a_{ik}^{p_k} \right\}^t \left\{ \prod_{j=1}^{n} a_{ij} \right\}^{1-t} \right]^{1/p_k}$$
(4.6)

for a positive sequence  $\{a_{ij}\}$  and another positive sequence  $\{p_k\}$  satisfying  $\sum_{k=1}^{n} \frac{1}{p_k} = 1$ . He verified that

$$h(0) \le h(t) \le h(u), \quad 0 \le t \le u < \infty, \tag{4.7}$$

the case u = 1 of which connects both sides of (discrete) Hölder's inequality by a continuum. We can refine (4.7) as

$$h(0) \le Q_1(t) \cdot h(t) \le h(t) \le h(u), \quad 0 \le t \le u < \infty,$$
 (4.8)

where  $Q_1(t) = Q_1(k_1, k_2; t)$  is defined by

$$N_1(t) = \left[1 - \left\{\frac{\sum_{i=1}^n e_i b(k_1, t; i)}{\sum_{i=1}^n b(k_1, t; i)} - \frac{\sum_{i=1}^n e_i b(k_2, t; i)}{\sum_{i=1}^n b(k_2, t; i)}\right\}^2\right]^{\frac{1}{2\max\left(p_{k_1}, p_{k_2}\right)}}.$$

with  $\{k_1, k_2\} \subset \{1, 2, \cdots, n\}$  and

$$b(k,t;i) = \{a_{ik}\}^{p_k t} \left\{ \prod_{j=1}^m a_{ij} \right\}^{1-i}$$

Remark 5. As in [KBe], we can extensively define H(t) unifying (4.3) and (4.6) on a general measure space. By improving Lemma 3.1 to the case of a general measure space, we can obtain an extended result which can be reduced both to (4.5) and (4.8) as special cases. This topic will be considered with various applications in a coming paper of the first author.

#### References

- [1] E. F. Beckenbach, R. Bellman, Inequalities, Springer-Verlag, New York, 1971.
- [2] G. Hardy, J. E. Littlewood & G. Polya, *Inequalities*, 2nd edn. Cambridge University Press, Cambridge, 1952.
- [3] J. M. Aldaz, A stability version of Hölder's inequality, Journal of Mathematical Analysis and Applications, 343 (2001), 842-852.
- [4] J. Baric, R. Bibi, M. Bohner, J. Pecaric, Time scales integral inequalites for superquadratic functions, J. Korean Math. Soc, 50 (2013), 465-477.
- [5] K. Hu, On an inequality and its applications, Sci. Sinica 24 (8), (1981), 1047-1055.
- [6] E. G. Kwon and E. K. Bae, On a continuous form of Hölder inequality, Journal of Mathematical Analysis and Applications, 343 (2001), 585-592.
- [7] E. G. Kwon and J. E. Bae, On a generalized Hölder inequality, Journal of Inequalities and Applications, (2015), 2015:88, DOI 10.1186/s13660-015-0612-9.
- [8] E. G. Kwon and J. E. Bae, On a refined Hölder's inequality, Journal of Mathematical Inequalities, Preprint.
- [9] J. Pecaric, V. Simic, A note on the Hölder inequality, Journal of Inequalities in Pure and Applied Mathematics, 7, Article 176 (2006), 1-3.
- [10] H. Qiang, Z. Hu, Generalizations of Hölder's and some related inequalities, Computers and Mathematics with Applications, 61 (2011), 392-396.
- [11] J. Tian, Reversed version of a generalized sharp Hölder's inequality and its applications, Information Sciences, 201 (2012), 61-69.
- [12] S. Wu, Generalization of a sharp Hölder's inequality and its applications, J. Math. Anal. Appl. 332 (2007), 741-750.

32

- [13] S. Wu, A new sharpened and generalized version of Hölder's inequality and its applications, Appl. Math. Comput. 197 (2008), 708714.
- [14] X. Yang, A generalization of Hölder inequality, J. Math. Anal. Appl. 247 (2000), 328-330.

Ern G. Kwon

Department of Mathematics-Education, Andong National University, Andong 760-749 Korea

*E-mail address*: egkwon@andong.ac.kr

JUNG E. BAE

Department of Mathematic, Graduate School, Andong National University, Andong 760-749 Korea

E-mail address: ner-salanghae@nate.com